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QUESTION 1

Identify two key prerequisites that your customer must meet when ordering Oracle Network Cloud Service
?FastConnect Standard Edition. 

A. The customer orders at any location where there is a router. 

B. Thecustomer orders the service at the location where a physical connection between their network routers and
Oracle routers can be set up. 

C. The customer orders the service at the location where a physical connection between their network routers and
partner routers can be set up. 

D. The customer orders the service at the location where the partner routers are located. 

E. The customer orders the service at the location where their Oracle Cloud Services are provisioned. 

Correct Answer: BE 

 

QUESTION 2

Which two methods would you use to obtain a token, when executing an operation and authenticating against your
Oracle Storage Cloud Service instance? 

A. Use the Java library, which automatically requests an authentication token. 

B. In the Oracle Cloud My Services web console, navigate to the Security tab, and select Generate Token. 

C. Use the REST API to request an authentication token. 

D. Use the Command Line Interface (CLI) and enter theget_tokencommand. 

E. Use an SSL utility to generate a self-signed SSL token certificate. 

Correct Answer: AC 

 

QUESTION 3

In which three use cases would Oracle Storage Cloud Software Appliance be appropriate? 

A. providing highly scalable block storage capacity in the form of disks attached to VMs in Oracle Compute Cloud
Service 

B. providing directly attached storage for on-promises applications 

C. easily connecting on-premises applications to Oracle Storage Cloud Service without having to deal with REST API
calls to the service 

D. ensuring that on-premises applications continue to experience near-local storage- access performance when using
Oracle Storage Cloud Service 
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E. encrypting data uploaded to Oracle Storage Cloud Service before the data leaves the customer\\'s data center 

Correct Answer: BCD 

 

QUESTION 4

You have requested and received an authentication token from Oracle Storage Cloud Service by sending your user
credentials to the service. What is your next step? 

A. Activate your token. 

B. Perform your operations against your service instance by using your token within 30 minutes. 

C. Perform your operations, so idle time does not invalidate your token. 

D. Start moving your data to the Cloud. Tokens are valid as long as your subscription is active. 

Correct Answer: B 

 

QUESTION 5

You have created four instances using a single orchestration. Two instances have the High Availability (HA) policy
specifies as Active, one has the HA policy specified as Monitor, and the fourth has the HA policy specifies as None.
What can you do? 

A. You can\\'t delete any of the instances. 

B. Delete all of the instances by stopping the orchestration. 

C. Delete only the instances that have the HA policy specified as Noneor Monitor. 

D. Delete only the instance that has the HA policy specified as None. 

E. Delete only the instance that has the HA policy specified as Monitor. 

Correct Answer: D 
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